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Profitability 
 

There are numerous methods to quantify the profitability of Oregon's workers' compensation 

market.  One widely used measure is the combined ratio.  Although there are two different ways 

to calculate this ratio, this report defines the combined ratio as the sum of the loss ratio, the 

expense ratio, and the policyholders' dividend ratio. The loss ratio has been described in a 

previous section.  The expense ratio is calculated by dividing expenses by written premium.  The 

policyholders' dividend ratio is obtained by dividing dividends (to policyholders) by earned 

premium.  If the combined ratio is below 100 percent, it indicates that the industry is paying out 

less in losses, expenses, and dividends than it is taking in as premium, and is therefore profitable.  

Conversely, if the combined ratio is in excess of 100 percent, it indicates that expenditures 

exceed premium income.  It should be noted that the combined ratio is a simple measure and 

does not reflect investment income, which can be a significant source of profit. 

 

 
 

 

 

 

 

 

 

 

 

 

131
127

106

140

169

191

135
129

122
119

120

109 108
117

125

102
107

121
129

137
133

127

108 102

94
98

94 95
103

108

0

50

100

150

200

250

1995 1996 1997 1998 1999 2000 2001 2002 2003 2004 2005 2006 2007 2008 2009

P
er

ce
n

ta
g

e 

Accident Year

Figure 3. Combined Ratio: Oregon vs. Countrywide, 1995-2009

Oregon Countrywide

Source:  NCCI Calendar-Accident Year Underwriting Results as of 12/31/09.  Last updated 12/2010
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Another measure of the profitability of an insurer is the percent of direct premiums return on net 

worth as calculated and reported in the NAIC's Report on Profitability by Line by State.  This 

measure takes into account investment income and allows one to evaluate the profits earned in a 

particular market in relation to the net worth that is committed to that market.  For this measure, 

profit on insurance transactions is equal to underwriting profits plus investment gain on 

insurance transactions minus estimated related federal income taxes.  The return on net worth is 

equal to profit after taxes divided by allocated capital and surplus adjusted to place it on a 

generally accepted accounting principles (GAAP) basis.  In the calculation of this measure, 

capital and surplus is allocated to each line/state on the same basis used for the total investment 

gain allocation.  GAAP-adjusted net worth in the report is equal to statutory capital and surplus 

plus excess statutory reserves, unauthorized reinsurance, non-admitted 

 
Source: NAIC Profitability Report, 2010.  Last updated 3/2011 

 

assets, prepaid expense and salvage/subrogation, minus deferred taxes.  The data and definition 

for this measurement comes from the above-mentioned NAIC report.  Oregon's ten-year average 

direct return on net worth amounts to 5.0 percent, lower than the ten-year countrywide average 

of 6.4 percent.   
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Figure 4. Percent of Direct Premiums Earned 

Return on Net Worth, 1994 - 2009


